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list = ["fentiao”, 4, 'gender’]

list = [['"#34%", 100], ["#r£2", 90], ["# 7", 98]]
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'3'in ['3', '4', '5']
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names = ['fentiao’, 'fendai’, 'fensi’, 'apple']

i i 45 54| have fentiao, fendai, fensi and apple.'
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[: ipkist = ['172.25.254.1", “172.25.254.19"}
]: iplist.append('172.25.254.17")

]: print iplist
'172.25.254.19" ; "172.25.254.171")

]: iplist.append(('172.25.254.89"','172.25.254.99"))

| print iplist
[’ 172.25.154 1%, "W2.25.258.019° ; "172.25.284.070"; N'172.25.258.89",
'172.25.254.99"' )}
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[21]: iplist.extend(['172.25.254.189"','172.25.254.199'])

n [22]: print iplist
[ '172.25:254:.1" ; “172.25.254:19"; "112.25:254.17"; (" 172.25:154:89" ;
"172:35.254:.99"); "112:25.254,18%" ; "172:25.256.199" ]

[23]: iplist.append(['172.25.254.189"','172.25.254.199'])

n [24]: print iplist

['172.25:.254.1" ; “172.25.254:19"; "112.25:254.11" ;
"112:dD.298 .99 ) ; "172.25.254.189" ; "Y1I12:25.254,199",

189" "1AL:28 254139 7] ]
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L.insert(index, object)

33 listl = ['fentiao',5, 'male’]

34]: listl.insert(1,"fendai")

. 35]: print 1listl
['fentiao', 'fendai', 5, 'male’]
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[2B]: listl = ['fentiao’.5,'m

[26]: 1istl[0] = 'fendai’

[n [27]: print 1listl
["fendai', 5, 'male’]
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1listl
['fentiao', 'fendai', 5, 'male’]

listl.index('fentiao')
0

listl.append( ' fentiao')

listl.index('fentiao')
0

1listl.index('fentiao',1,5)

listl.count('fentiao')
2
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list.remove () Bz 711K H FI45 € i %=
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list.clear: /&= 5K B H P T A LR

[5]: 1listl = ['fentiao', 5, 'male’]
[6]: listl.remove('fentiao')

In [7]: print 1listl
[5, 'male']

[8]: 1listl.remove(listl[1])

[9]: print 1listl

[5]
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del(list[])

[10]: listl = ['fentiao', 5, 'male’

[11]: del(listl)

[12]: print 1listl

| Traceback (most recent call last)
i<ipython-input-12-b0af4949e4b3> in <« ()
|----> 1 print 1listl

: hame 'listl' is not defined
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» [a, b, c]

a=1[123,[a b,d]
b = copy.deepcopy(a)

@—— 123 O
o

= [a, b, c]
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tuple = ()
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tuple = (fentiao,)
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tuple = (fentiao, 8, male)
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[30]: t1l = ('fentiao',4, 'male’)
[31 t1[0] = 'fendai’
Traceback (most recent call last)

<ipython-input-31-8870739c2bca> in le>()
---->1 t1[0] = 'fendai’

: 'tuple’ object does not support item assignment
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('fentiao',4, 'mal

34]: name,age,gender = tl

35]: print name,age,gender
'fchtlaﬁ 4 male
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X,y,z=1,2, 'westos' T (x,y,2) = (1, 2, 'westos') , Z55 P X R A& e FE H oA /Mg & nl ik

# JREAMINEE: B0 Tk, SAFLTEEEN
t = {'westos', 10, 108)

name, age,score =T

print({name, age, scoreg)

#

scores = (100, 89, 45, 7B, 65)
# Sl miEHITEEE

# scoreslLi = list(scores)

# scoreslLi.sort()

# print(scoreslLi)

scores = sorted(scores) & pythonSqJZ?ﬁ‘éﬁFJ*middleScore

# python3gh

minScore, *middleScore, maxScore = scores

print{minScore, middleScore, maxScore)

print("BENER: %.27" %(sum{middleScore) /len(middleScore) )]
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x=2; y=10;x, y =y, 2; print(x,y)
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t.count(value)-->int
iR [Elvalueft e 2H A H 3R I E s
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1). Mi&—"Ied(y, x);
2). Mi& 5 — N Ind(x, y);
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Tupleit 5 —/ .28, Unamedtuple. BEIRESRtuple, (HRINAEF NI,

collections.namedtuple(typename, field _names)

typename: ZEH4HR

field_names: Jo4H A TG K 4 FR
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from collections import namedtuple

User namedtuplef'User', ['name', 'age', 'id'])

User

namedtuple('User', 'name age id')

St ar A4 ocdl, RIFEA— AL

user = User('tester', '22', '464643123')
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user.name; user.age, user.id
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KIEME _fields: B&FXANRIATBARITA

>>> user._fields
(‘name', 'age', 'id')

FKFi% _make(iterable): 25— ANATEAT Gk AR F= X AN SR 5L

>>> User. make(['westos', 12, 132001])
User(name='westos', age=12, 1id=132001)
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